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ELRS E2 Sal&k [IARREW HAREEER Zmitd [ZIHR |&E
100082210001253 |F*f 658.60  [080400 {VBERIZS5HA IEEMHAL T E=E]
100082210001248 | AB*3Z 602.40  |080400 {YB&RIZ5HA EEMEFAL 7T =k
100082210001233 |IF*& 542.40  [080400 {YEERIZS5HA IEEMHAL I Ex=kal
100082210001251 |&&*BE 541.00 |080400 {YB8RIZ5HA EEMEFAL T Ex{=k2
100082210001243 |35 522.80 (080400 {VBERIZ5HA EEEFALL T E=E
100082210008182 |&H* 522.60 |080400 {YB8RIZ5HA EEMEFAL T Ex{=k2
100082210001234 | Z+3F 519.00 (080400 {YEERIZ5HA IEEMHAL I Ex=kal
100082210007275 Wi 516.40  |080400 {Y88RIZ5HA EEMEFAL T Ex{=k2
100082210006638 | ZE*iff 514.00 (080400 {YEERIZ5HA IEEM AL I =kl
100082210001244 |k 502.20  |080400 {YB8RIZ5HA EEMEFAL 7T =k
100082210003211 |FE*4F 495.80  [080400 {YEERIZESHA IEEMAHAL T =kl
100082210004265 |B*FF 483.40  |080400 {YEERIZSHA EEEFHL 7 Ex{=kil
100082210004810 |E*i5 482.60  |080400 {YEERIZFSHA EEMFALL 7 E=k
100082210001281  |Z=* 622.00 |081100 =HRIFSTTE EEME AL 0 E=E]
100082210001317  |&* 620.00 |081100 =HIRIFEETE EEMFALL 7 E=k
100082210002622 |14+ 616.00 (081100 I=4IRIF 5 TE EEEFH 7 Ex{=kil
100082210001333 |3+ 611.40 |081100 I=HRIFETE EEMFALL 7 E=k
100082210005852  |E&*Hk 611.00 |081100 =HRIFSTTE EEMFAL 7 E=E
100082210001283 |&F* 606.60  |081100 I=HRIFEETIE EEMFALL 7 E=k
100082210001301  |Z=*5T; 602.80  |081100 =HRIFETTE EEMEFALL 7 Ex{=F:
100082210001350 |&*Bf 598.60 [081100 IFHIRIFS5TE EEAFL T E{=k:
100082210003009 |fE*E: 596.00  |081100 =HIRIFS5THE EEMEFALL ¥ Ex{=F2
100082210002757 |3K*RE 594.20  [081100 =HIRIFS5TE EEAFHL T E{=k:
100082210002961 |E*A% 590.60  |081100 i=HIRIFS5THE EEMEFALL 5 E=E]
100082210001356  |%B* 588.20  [081100 =HIRIZEE T2 IEEEHAL T EX=LH
100082210006044  [5E*4E 586.80  |081100 i=HIRIFS5THE EEMEFALL ¥ Ex{=F:
100082210001343  |Z=*M 586.40 [081100 I=HIRIFS5TE EEAFHL T E{=k:
100082210001310 |2+ 582.60  |081100 =HIRIFS5THE EEMEFALL ¥ Ex{=F2
100082210008835 |3+ 581.60  |081100 =HIRIFZETIE AL 7 E=Fi
100082210005520 |&=*/i 579.60 (081100 E=HIRIESTHE EEMEFALL 7 E=E
100082210004921 |E*¥ 579.40 |081100 I=HIRIFE ST IEEEHAY T EXA=LH
100082210001332  |p&*5E 577.40 (081100 E4IRIF 5T EEMEFALL 7 E=k
100082210001359  |XIJ*a] 574.80 081100 =#IRIZ 5T IEEEHAY T EXA=LH
100082210001286 |f@* 573.20 (081100 EHIRIESTHE EEMEFALL 7 E=k
100082210001309 |Z&*[H 572.40 081100 =HIRIZS5TE IEEEHAY T EXA=LH
100082210001305 |E*FH 571.40 (081100 E=HIRIESTHE EEMEFALL 7 E=k
100082210001364 |iB*A 569.40 081100 =HIRIZES5TE IEEEHAY T EXA=LH
100082210001389 |2+*7F 638.40  |085406 I=HITH2 IEEMHAL 7 E=E
100082210001448 |[E*H 633.20 |085406 I=HITHE IEEEFHA T ESA=LH
100082210005423  |Z=+i 628.60  |085406 I=HITH2 IEEMHAL T E=E]
100082210001420 |#7*HiE 619.60 |085406 ¥=HITHE IEEEFHA T ESA=LH
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100082210001376 |&+j& 618.80  |085406 = T2 IEEMHAL T E=E]
100082210006485  [3k* 617.00  |085406 ¥ TFE ML 7 Ex{=k2
100082210001409 [#F*& 610.60  |085406 = T2 EEEFALL T E=E
100082210001435  |/=*= 606.60  |085406 = T2 ML 7 Ex{=k2
100082210007331  |Z=*#¥ 604.60  |085406 = T2 EEEFALL T E=E
100082210001444 |E*fR 603.20  |085406 ¥=HITHE EEAFL T Ex{=k2
100082210006490 |f&* 603.20  |085406 = TF2 EEEFALL T E=E
100082210001384  [3k* 601.00  |085406 = T2 ML 7 Ex{=k2
100082210006480 [#&*7 598.80  |085406 ¥z TH2 EEEFALL T E=E
100082210001404 [SB*E 598.40  |085406 = T2 EEAFHL 7T Ex{=k2
100082210001468 |Z=+F 597.80  [085406 =4ITH2 EEMFALL T E=k
100082210001427  |XB*HK 596.40  |085406 =4 TH2 EEMFAL 7T E=E
100082210002428 |F*3& 594.40  |085406 =4I THE EEMFALL 7 E=k
100082210001434  |XI*fE; 593.60  |085406 =4I TH2 EEMFAL 7T E=E]
100082210001406  |BR+I& 593.40 (085406 =4ITH2 EEMFALL 7 E=k
100082210003570 |{&=*## 592.40  |085406 ¥=HITHE EEMFAL 7 E=E]
100082210001432 |E* 590.20  |085406 =4I THE EEMFALL 7 E=k
100082210001408 |E*Ec 589.40  |085406 = THE EEMFAL 7T E=E
100082210002425 |E* 589.20  |085406 =4I THE EEMFALL 7 E=k
100082210005079 |Z=*z& 587.40  |085406 = TH2 EEMEFALL 7 Ex{=F:
100082210006489  |XI*FF 586.20  |085406 = T2 JEEMHAL 7 E=L
100082210002903  |5i*& 585.60  |085406 = THE EEMEFALL ¥ Ex{=F2
100082210006488 |E* 585.60  |085406 14 T2 EEAFHL 7 E{=k:
100082210006613  |#i* 584.40  |085406 =4 TH2 EEMEFALL 7T E=E]
100082210001405  |4=* 582.60  |085406 ¥=HITHE EEAFL 7 E{=k:
100082210001460 |E*5A 582.60  |085406 =4 TH2 EEMEFALL ¥ Ex{=F:
100082210003910  |BB* 578.00  |085406 14 T2 EEAFHL 7 E{=k:
100082210001450 3 577.80  |085406 =4 TH2 EEMEFALL ¥ Ex{=F2
100082210005117 |Z*; 577.80  |085406 3ZHITHE EEAFHAL 7 E{=k:
100082210001412  |iF* 577.40  |085406 =4ITH2 IEEMHAL 7 E=E
100082210001407 |&*HE 577.20  |085406 ¥=HITHE IEEEHAY T EXA=LH
100082210005091  |3Kk* 575.00 [085406 =4I TH2 IEEMHAL 7 E=E
100082210001396 |f&* 574.20  |085406 ¥=HITHE IEEEHAY T EXA=LH
100082210002434  |XI*fB 573.80  [085406 =4I TH2 IEEMHAL 7 E=E
100082210002432  |{EF 573.40  |085406 ¥=HITHE IEEEHAY T EXA=LH
100082210001399 |Z*4T 572.60  [085406 =4I TH2 IEEMHAL T E=E
100082210005446  |F&* 570.60  |085406 ¥=HITHE IEEEHAY T EXA=LH
100082210001461  |£E*i 570.40  [085406 F=4ITH2 IEEMHAL 7 E=E
100082210002767 |F9*&S 570.00  |085406 =4I TH2 IEEMAHAL T E=E]
100082210006491 [+ 569.80  |085406 =% THE IEEMHAL T E=E]
100082210001411  |3K*FR 569.40  |085406 =4I TH2 IEEMAHAL T E=E]
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100082210002962 |7* 567.00  [085406 F=HITH2 IEEMHAL T E=E]
100082210001415  |3K*1R, 565.20 (085406 =4I TH2 ML 7 Ea=k
100082210001459 |E* 564.80  |085406 =4I THE EEEFALL T E=E
100082210001424 |5*3& 564.60  |085406 ¥z THE ML 7 Ex{=k2
100082210001371  |#X*¥i 564.40 (085406 F=4ITH2 EEEFALL T E=E
100082210001458  |Z*fi 562.20  |085406 ¥z THE ML 7 Ex{=k2
100082210007573 |E* 561.00  |085406 =4I THE EEEFALL T E=E
100082210005458 |2*f 560.20  |085406 ¥z THE EEAFHL T E=E
100082210007244 |2+ 559.80 (085406 F=HITH2 EEEFALL T E=E
100082210005806 |Z=+% 559.60  [085406 =4I TH2 ML 7 Ea=k
100082210001275 |45 588.20  [085407 {YBMUFETIE EEMFALL T E=k
100082210001268  |E* 562.60  |085407 {YE&{WFKTFE AL 7 E=E
100082210002111 [#7*#¢ 562.20 085407 {YBMUFRTIE EEMFALL 7 E=k
100082210001276  |g&* 555.00 |085407 {YBE\ K TIE EEMFAL 7 E=E]
100082210001259 [XI*& 554.80  [085407 {YBMUFETIE EEMFALL 7 E=k
100082210005445 |%B*EE 553.60  |085407 {YE&{WFKTFE AL 7 E=E]
100082210001266 |E*i% 552.20  [085407 {YBMUETIE EEMFALL 7 E=k
100082210001261 | z*HS 547.80  |085407 {{¥FEIE EERRHAL 7T Ex{=F2
100082210005367 |Z=* 545.40  |085407 {YBMUFETIE EEMFALL 7 E=k
100082210007145 |EB*fK 539.40  |085407 {YBE\EKTIE EEMEFALL 7 Ex{=F:
100082210001280  |iF*i% 534.00 |085407 {YBHMUKRTIE JEEMHAL 7 E=Fi
100082210009066  |XIJ* 534.00 [085407 {YBUETIE EEMEFALL 7 E=E]
100082210001264 || J*E 529.60  |085407 {YE&{FKTFE EEAFHL T E{=k:
100082210001257  |fE*Hh 527.40  |085407 {YBUETIE JEEMAFAL T =kl
100082210001269  |#B* 518.40  |085407 {YB8{UFK T2 JEEMHAL 7 E=Fi
100082210007160  |XiJ* 516.40  |085407 {XB&(NETIE IEE R T =kl
100082210001260 |7E* 513.00 |085407 {YB8{WFK T2 JEEMHAL 7 E=Fi
100082210008172 |Z=*FK 502.40  |085407 {YBE\EKTIE EEMEFALL ¥ Ex{=F2
100082210001258 |:E*% 493.60  |085407 {YE&{WERTFE EEAFHAL T E{=k:
100082210001272  |FE*ik 490.40  [085407 {UBUETIE EEMEFALL 7 E=E
100082210009044  |Fw* 455.00 |085407 {XB(EIE IEEEHAY T EXA=LH
100082210001295 |FE*&= 587.00  [085407 {YBUETIE EEMEFALL 7 E=k ERIEE
100082210001335 |5+ 581.80  [085407 {YEMNEKTLFE IEEMHAL ¥ E=k EFIEL




